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I LSE-05 I 

BACHELOR OF SCIENCE (B.Sc.) 
Term-End Examination 

IEV December, 2017 ED 	1 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Use separate answer-sheets for Part I and Part IL 
Be brief and precise in your answers. Draw neat 
and labelled diagrams, wherever necessary. 

PART I 

Animal Physiology 

Note : Question no. I is compulsory. Attempt any 
four questions from questions no. . 2 to 6. 

1. (a) Differentiate between the following : 	2x1=2 

(i) Facilitated transport and Active 
transport 

(ii) Cardiac muscles and Smooth muscles 

(b) Fill in the blanks : 	4x4,2 

(i) Antidiuretic Hormone (ADH) is also 
called 	 

(ii) A pair of renal organs present in 
crustaceans are called 
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(iii) Animals whose body temperature 
fluctuates with that of the environment 
are traditionally called 	 

(iv) The cells forming the myelin sheath 
around the axons of peripheral nerves 

are known as 	cells. 

(c) Expand the following : 

(i) FSH 
(ii) ACTH 

2. (a) Draw a well labelled diagram of a motor 

neuron. 	 4 

(b) Define a synapse. 	 1 

3. (a) Describe the blood clotting mechanism with 

the help of a flow chart. 	 4 

(b) Name an anticoagulant. 	 1 

4. (a) With the help of a diagram, describe the 
oxygen-haemoglobin dissociation curve. 	4 

(b) What is Bohr effect ? 	 1 

5. (a) Explain the genetic basis of sex 

determination in mammals and birds. 	3 

(b) What are accessory reproductive organs ? 

Name any two of them. 	 2 

6. Write short notes on any two of the 

following : ' 	 2x2 =5 

(a) Structural Variation in Vertebrate Kidney 

(b) Absorption of Lipids 

(c) Amoeboid Movement 
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PART II 

Plant Physiology 

Note : Question no. 7 is compulsory. Attempt any 

four questions from questions no. 8 to 12. 

. (a) Mark true or false for the following 
statements : 	 4x 1  =2 2 

(i) Photoreduction of NADP+  requires 
CO2 . 

(ii) Addition of solute lowers the water 
potential of a cell. 

(iii) Haploid plants can be obtained by 
anther culture. 

(iv) The first stable compound formed in 
photorespiration is phosphoglycerate. 

(b) Expand any two of the following : 

PWP, FC, PQ, ADP 

2x 1 =1 2 

(c) Define any two of the following : 	2x1=2 

(i) Leghaemoglobin 

(ii) Osmotic Pressure 

(iii) Apoplastic Pathway . 
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8. Write short notes on any two of the 

following : 	 2x2 2 

(a) CAM Plants 

(b) Active Transport 

(c) Biological Clocks 

9. With the help of suitable diagram, describe the 
mechanism of light reactions of photosynthesis 

(Z-scheme). 5 

10. (a) Describe the important applications of 
ethylene to agriculture. 	 2 2 

(b) What are the responses of plants to 
Light-Dark cycles ? 	 2 1  2 

11. (a) Briefly describe the pathway of 
Photosynthates from Source to Sink. 

(b) Describe plant response to any two stress 
conditions. 	 2 

12. Differentiate 	between 	Macro- 	and 

Micro-nutrients. Discuss the role of any two 
Macro-nutrients in plants. 	 2+3 
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